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Note to the students:- All the Questions are compulsory and carry equal marks .      
	Q1. 
	 In voltage source inverters (VSIs), the amplitude of the output voltage is

	Option A:
	independent of the load

	Option B:
	dependent on the load

	Option C:
	dependent only on L loads

	Option D: 
	independent to resistor.

	
	

	Q2.
	A number of Pulse width modulation (PWM) scheme is used to obtain variable_____      and frequency supply from a power converter.

	Option A:
	voltage 

	Option B:
	current

	Option C:
	phase 

	Option D:
	amplitude

	
	

	Q3.
	Under harmonic free load voltages, the 3 phase VSI

	Option A:
	Does not contains second harmonic

	Option B:
	Does not contains third harmonic

	Option C:
	Does not contains fifth harmonic

	Option D:
	Does not contains seventh harmonic

	
	

	Q4.
	In a single-phase half wave inverter ________ SCR(s) are/is gated at a time.

	Option A:
	one

	Option B:
	two

	Option C:
	three

	Option D:
	four

	
	

	Q5.
	Choppers is a_______________

	Option A:
	AC – DC converters

	Option B:
	DC – DC converters

	Option C:
	DC – AC converters

	Option D: 
	AC – AC converters

	
	

	Q6.
	Which of the following mentioned control strategy/strategies would require a 
      feedback loop?


	Option A:
	pwm

	Option B:
	constant frequency system

	Option C:
	current limit control

	Option D: 
	voltage limit control.

	
	

	Q7. 
	In the current limit control method, when the load current reaches a predefined lower value, then

	Option A:
	the chopper is switched off

	Option B:
	the chopper is switched on

	Option C:
	the source voltage is removed

	Option D: 
	load voltage goes to zero

	
	

	Q8. 
	The circuit for the buck regulator operates by varying the amount of ______in which inductor receives energy from the source.

	Option A:
	Time

	Option B:
	Frequency

	Option C:
	Switching time

	Option D: 
	phase

	
	

	Q9.
	Which consideration  is not involved in the selection of the type of electric drive for a particular application depends on

	Option A:
	Speed control range and its nature

	Option B:
	Starting torque

	Option C:
	Environmental conditions

	Option D: 
	Ending torque 

	
	

	Q10. 
	Speed of d.c. shunt motors are not controlled by

	Option A:
	Flux control method

	Option B:
	Rheostatic control method

	Option C:
	Voltage control method

	Option D: 
	Current control method 

	
	

	Q11. 
	With the increase in temperature, the speed of series and shunt motor will

	Option A:
	Increase, decrease

	Option B:
	Decrease, increase

	Option C:
	Increase, increase

	Option D: 
	Decrease, decrease

	
	

	Q12. 
	If a portion of armature current is diverted through the diverter resistance, then the speed of d.c. series motor

	Option A:
	Remains same

	Option B:
	Increases

	Option C:
	Decreases

	Option D:
	equal

	
	

	Q13.
	Electrical braking of any variety becomes less effective as _______________

	Option A:
	Speed increases

	Option B:
	Speed decreases

	Option C:
	Independent of speed

	Option D: 
	Depends on supply voltage

	
	

	Q14. 
	Which of the following is dynamic braking?

	Option A:
	Reversal of field connections

	Option B:
	Reversal of armature connections

	Option C:
	Addition of equal and opposite field

	Option D: 
	Removal of armature circuit from current machine circuit

	
	

	Q15.
	In which of the following electrical braking method, energy is supplied back to the supply?

	Option A:
	Plugging

	Option B:
	Dynamic braking

	Option C:
	Regenerative braking

	Option D: 
	In all electrical braking

	
	

	Q16. 
	Regenerative braking is used when duty cycle ____________

	Option A:
	Requires braking of machine

	Option B:
	Requires accelerating of machine

	Option C:
	Requires constancy of machine

	Option D: 
	Cannot comment on duty cycle

	
	

	Q17.
	To control the speed of an induction motor, the supply frequency is reduced by 10%. For the same magnetizing current to remain constant, the supply voltage must be


	Option A:
	reduced by 10 %

	Option B:
	reduced by 20 %

	Option C:
	increased by 10 %

	Option D:
	increased by 20 %

	
	

	Q18.
	In V/f speed control of 3-phase induction motor, with increase in frequency, the slip at which maximum torque occurs

	Option A:
	increase.

	Option B:
	decrease.

	Option C:
	either of these.

	Option D: 
	Same

	
	

	Q19. 
	An induction motor has synchronous speed of 1500 rpm. What will be the slip when it is running at a speed of 1450 rpm?


	Option A:
	+3.33%

	Option B:
	-3.33%

	Option C:
	+3%

	Option D: 
	 -3%

	
	

	Q20.
	An induction motor is, in general analogous to

	Option A:
	two winding transformer with secondary short circuited.

	Option B:
	 two winding transformer with secondary open circuited.

	Option C:
	auto transformer.

	Option D:
	 Only one winding of transformer.

	
	

	Q21.
	Which of the following is incorrect?

	Option A:
	 A storage cell has a reversible chemical reaction

	Option B:
	A lead-acid cell can be recharged

	Option C:
	A carbon-zinc cell has unlimited shelf life

	Option D: 
	A primary cell has an irreversible chemical reaction

	
	

	Q22. 
	Cells are connected in parallel to

	Option A:
	Increase the efficiency

	Option B:
	 Increase the current capacity

	Option C:
	Increase the voltage output

	Option D: 
	Increase the internal resistance

	
	

	Q23.
	What is the formula for output voltage for Buck converter?


	Option A:
	8D×Vin

	Option B:
	5D×Vin

	Option C:
	2D×Vin

	Option D: 
	D×Vin

	
	

	Q24. 
	What is the formula for output voltage for Buck-Boost converter?


	Option A:
	D×Vin

	Option B:
	Vin ÷ (1-D)

	Option C:
	D×Vin ÷ (1-D)

	Option D: 
	[bookmark: _gjdgxs]D×Vin ÷ (1+D)

	
	

	Q25.
	Which of the following motors is used in a situation where load increases with speed

	Option A:
	Induction motor

	Option B:
	Three-phase series motor

	Option C:
	Schrage motor

	Option D: 
	Hysteresis motor
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